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QUESTION 1

Which of these is the data type not supported by SOLite database which can be used by Android? 

A. INTEGER 

B. REAL 

C. BLOB 

D. VARCHAR 

Correct Answer: D 

 

QUESTION 2

Which of these is the incorrect explanation of BroadcastReceiver? 

A. Receives an explicit Intent 

B. Receives an implicit Intent 

C. Receives a broadcast Intent 

D. Receives an Intent with a registered Permission 

Correct Answer: A 

 

QUESTION 3

Which is the correct explanation of ListView? 

A. It is necessary to use ListView as a set with ListActivity. 

B. There is a function in ListView which displays a message when there is no information to be displayed. 

C. When displaying an array using an Adapter class in ListView, it is necessary to convert it into a Collection class. 

D. ListView has a function to display a list of uniquely defined Views other than TextView. 

Correct Answer: D 

 

QUESTION 4

When is written in the manifest file, which is the corresponding Android SDK development environment version? 

A. 1.5 and later 

B. 1.6 and later 
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C. 2.0 and later 

D. 2.1 and later 

Correct Answer: D 

 

QUESTION 5

Which of these is the incorrect explanation of dx? 

A. It is a tool used from the command line and does not have a GUI. 

B. It converts class files into a Dalvik executable format (dex file). 

C. The file types used for conversion are only class, jar, and zlib. 

D. When using Eclipse, it is not necessary to call it explicitly. 

Correct Answer: C 

 

QUESTION 6

Which of these is not defined as a SharedPreferences access mode constant? 

A. MODE_WORLD_WRITEABLE 

B. MODE_PUBLIC 

C. MODE_PRIVATE 

D. MODE_WORLD_READABLE 

Correct Answer: B 

 

QUESTION 7

Which will be displayed in TextView01 when executing the following code? 
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A. "Hello World" will be displayed. 

B. "Hello" will be displayed. 

C. It is undetermined which will be displayed, "Hello World" or "Hello". 

D. A runtime exception will be thrown. 

Correct Answer: C 

 

QUESTION 8

Which of these is the incorrect explanation of ddms? 

A. You can display a list of currently running threads and select one to check its stack trace. 

B. You can use it to acquire screenshots of a terminal. 

C. You can forcibly execute garbage collection and check the present heap usage status. 

D. You can do simulations of network zone speed and bandwidth limitations. 

Correct Answer: D 
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QUESTION 9

Which of these is the correct explanation of type and order of event issued after long-pressing the Button widget and
letting go? (Assume no event consumption by an event listener) 

A. The following event will be issued only once. OnLongClick event 

B. 2 events will be issued in the following order: OnTouch event (MotionEvent.ACTION_SELECT) OnLongClick event 

C. 3 events will be issued in the following order: OnTouch event (MotionEvent.ACTION_DOWN) OnLongClick event
OnTouch event (MotionEventACTIONJJP) 

D. 4 events will be issued in the following order: OnTouch event (MotionEventACTIONJDOWN) OnLongClick event
OnTouch event (MotionEventACTIONJJP) OnClick event 

Correct Answer: D 

 

QUESTION 10

Which of these is the incorrect package which holds classes needed for Android network connections? 

A. java.net 

B. org.apache.http 

C. android.location 

D. android.net 

Correct Answer: C 

 

QUESTION 11

Which of these is the incorrect method setup when playing a video using a MediaPlayer? 

A. setDataSource sets the path for the data you want to play. 

B. setDisplay sets the SurfaceView object you want to associate. 

C. setAudioStreamType sets the type, chosen from those defined in AudioManager. 

D. setLooping sets the player repeat to ON/OFF. 

Correct Answer: B 

 

QUESTION 12

Which of these is the correct procedure to create and use an SQLite database? 
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A. Call the ApplicationContext methods createDatabase() and openDatabase(). 

B. Extend the android.database.sqlite.SQLiteOpenHelper class, implementing the onCreate() method and onUpgrade()
methods, then call the getWritableDatabase() method. 

C. Declare an instance of the android.database.sqlite.SQLiteOpenHelper class and call each of the methods
onCreate(), onUpgrade(), and getWritabieDatabase(). 

D. Implement the android.database.SQLiteOpenHelper interface, writing the implementation of the onCreate() and
onUpgrade() methods, and pass it as a parameter to ApplicationContext.createOrOpenDatabase(). 

Correct Answer: B 

 

QUESTION 13

The following code is a part of an Activity class to create a dialog. Which is the Activity class method used to display this
dialog? 

A. void createDialog(); 

B. void createDialogfint id); 

C. void show(); 

D. void showDialog(int id); 

Correct Answer: C 

 

QUESTION 14

For playing an audio file, where does the Android Developer\\'s Guide recommend placing the file? 

A. res/raw 

B. res/values 

C. data/data 

D. system/data 

Correct Answer: A 

 

QUESTION 15
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Which class is used when a sensor is accessed? 

A. SensorEventListener 

B. SensorEvent 

C. SensorManager 

D. Sensor 

Correct Answer: C 
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